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FOREWORD

This issue of the PATHFINDER is published principally, in response to a growing demand for an aid to:

(i)
Candidates preparing to write future examinations of the Institute of Chartered Accountants of Nigeria (ICAN);
(ii)
Unsuccessful candidates in the identification of those areas in which they lost marks and need to improve their knowledge and presentation;
(iii)
Lecturers and students interested in acquisition of knowledge in the relevant subjects contained herein; and

(iv)
The profession; in improving pre-examinations and screening processes, and thus the professional performance of candidates.

The answers provided in this publication do not exhaust all possible alternative approaches to solving these questions.  Efforts had been made to use the methods, which will save much of the scarce examination time.  Also, in order to facilitate teaching, questions may be altered slightly so that some principles or application of them may be more clearly demonstrated.

It is hoped that the suggested answers will prove to be of tremendous assistance to students and those who assist them in their preparations for the Institute’s Examinations.
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FOUNDATION EXAMINATION – MAY 2011

FUNDAMENTALS OF FINANCIAL ACCOUNTING

Time allowed – 3 hours
SECTION  A: Attempt All Questions

PART 1
  MULTIPLE CHOICE QUESTIONS
 

      (20 Marks)
1.
Where a Bill of Exchange has been accepted, the double entry involved in the books of the drawee is 

A. Dr Bill of exchange receivable ; Cr Debtors

B. Dr Bank/cash ; Cr Debtors

C. Dr Debtor ; Cr Bank/ cash
D. Dr Bill of Exchange ; Cr Creditors
E. Dr Bills payable ; Cr Creditors.

2. 
The essence of keeping departmental  accounts EXCLUDES
A. each department’s gross profit can be known.
B. further analysis can reveal the net profit of each department.
C. areas of weaknesses in the organisation are revealed.
D. management can know the needs of the owners.
E. it enables management to take decisions.
3.
Depreciation is the method of charging the cost of fixed assets such as property, plant and equipment and motor vehicle to financial operations.  The guideline on charging the cost is provided in the

A. Prudential Guidelines.
B. Statement of Accounting Standards.
C. Companies and Allied Matters Act CAP C.20 LFN 2004.
D. Nigerian Insurance Commission Act 2006.
E. Banks and other Financial Institutions Act CAP B3LFN 2004.

4.
What is the accounting principle that states ‘’Anticipate no profit and provide for all possible losses‘’?

A. Accrual concept

B. Matching concept

C. Prudence concept

D. Realisation concept

E. Objectivity

5.
According to SAS 4- on stocks- the basis of valuation of inventory is

 A.   cost or market value.
 B.   lower of cost and market value.
 C.   lower of cost and net realisable value.
 D.   lower of average cost  and market value.
 E.   higher of average cost and market value.

6.
According to SAS 4 on stocks, which of the following costs should be included in valuing the stocks of a manufacturing company?
(i) Carriage inwards

(ii) Carriage outwards

(iii) Depreciation of factory plant

(iv) General administrative overheads

 A.    i, ii, iii, and iv
 B.    i, ii, and iv 
 C.    i,  ii and iii 
 D.    ii and iii 
 E.    i and iii.

7.     The plant and machinery account (at cost) of a business for the year ended 31 

        December 2008 is as follows:
	
	N’000

	1 Jan. balance
	2,400

	30 June purchasing of plant
	1,600

	
	4,000

	31 March- disposal 
	(600)

	Balance
	3,400



The company’s policy is to charge depreciation at 20% per year on the straight line basis, with proportionate depreciation in the years of purchase and disposal.


What should be the depreciation charge for the year ended 31 December 2008?

A.      N680,000
B.      N640,000
C.      N610,000
D.      N550,000
E.      N540,000.

8.       Which of the following is NOT an adjusting post balance sheet event?


A. A valuation of property evidencing of impairment in value at the 



balance  sheet date

B.
Sale of stock held at the balance sheet date for less than the cost 

C.
A fire completely destroyed a manufacturing plant and the loss is fully covered by insurance

D.
Discovery of fraud or error affecting the financial statements

E.
The insolvency of a customer indebted to the company at the balance sheet date.

9.        Which of the following statements are correct?

(i) Marketing means that only items having a physical existence may be recognised as assets

(ii) This substances-over-form convention means the legal form of a transaction must always be shown in financial statements even if this differs from the commercial effect

(iii) The money measurement concept means that only items capable of being measured in monetary terms can be recognised in financial statements

A.      ii only
B.      i, ii, and iii
C.      i only
D.     iii only
E.     i and ii.

10.
Wazobia, a VAT registered trader, purchased a computer for use in her business.  The invoice for the computer showed the following costs related to the purchase.

	
	N’000

	Computer
	890

	Additional memory
	95

	Delivery
	10

	Installation
	20

	Maintenance (1 year)
	25

	
	1,040

	VAT (5%)
	52

	
	1,092


How much should Wazobia capitalise as fixed asset?

A      N1,220,000
B      N1,092,000
C      N890,000
D      N1,040,000
E      N1,015,000.

11.
In financial accounting,

A.     capital plus drawings amount to assets.
B.     assets plus liabilities amount to capital.
C.     long-term liabilities plus asset amount to capital.
D.    capital plus liabilities amount to assets.
E.    capital equals liabilities plus long-term liabilities.

12.
Expenses on minor repairs of building was posted to building account.   This is an error of 

 A     Omission.
 B     Complete reversal.
 C     Principle.      

 D     Compensation.
 E     Commission.

13.
Which of the following is a book of prime entry?

A. Cheque register

B. Purchases journal

C. Principle

D. Compensation

E. Commission

14.
Goods originally costing N10,000 were valued for balance sheet purposes at N8,000.  This is an application of the concept of

          A       consistency.
B       cost.
C       prudence.
D       money measurement.
E       realisation.

15.
Which of the following is a capital receipt?

          A      Discount received
          B      Commission received
          C      Premium on shares
          D      Dividend received on shares
E      Interest received on fixed deposit account.
16.
The cost of goods purchased by cash was wrongly debited to sales account and credited to cash book.  The entries necessary to correct the error are :

A. Dr Purchases account; Cr cash book

B. Dr Sales account; Cr Cash book

C. Dr Cash book; Cr Sales account

D. Dr Purchases account; Cr Sales account

E. Dr Purchases account; Cr Suspense account.

Use the following information to answer questions 17 to 19

An asset costing N100,000 was purchased on 1 January 2004.  Depreciation was provided for on monthly basis at the rate of 10% per annum using straight line method.  It was disposed of on 30 June 2009 for N30,000.

17.
What was the accumulated depreciation at the time of disposal?

A. N70,000

B. N55,000

C. N45,000

D. N30,000

E. N65,000.
18.
What was the Net Book Value of the asset at the time of disposal?

A. N70,000

B. N55,000

C. N45,000

D. N30,000

E. N65,000.

19.
What is the profit or loss on disposal?
A.    N45,000 profit

B.    N30,000 profit

C.    N15,000 loss

D.    N15,000 profit

E.    N30,000 loss.

20.
The accounting entries to record provision for doubtful debts are:

A. Dr Bad account; Cr Profit and loss account

B. Dr Profit and loss account; Cr provision for doubtful debts account

C. Dr profit and loss account; Cr bad debts account

D. Dr Profit and loss account; Cr debtors account

E. Dr Provision for doubtful debts account; Cr Profit and loss account.
PART II:     SHORT ANSWER QUESTIONS                                (20 MARKS)

1.
Which concept holds that when a company selects a method, it should 

continue (unless conditions warrant a change) to use that method in subsequent years?

Use the following information to answer questions 2 and 3

An equipment worth N894,000 was purchased in year 2008.  The depreciation rate is 20% per annum.

2.
Calculate the depreciation for 2009, using straight-line method.

3.
Calculate the depreciation for 2010, using the reducing balance method based on net book value at the end of 2009.

4.
How are the profits and losses of a partnership shared when there is no partnership deed/agreement?

5.
Subscription in arrears is treated in the balance sheet of a club as…………..

6.
On partnership dissolution, if a partner’s capital account has a debit balance and the partner is insolvent, the deficiency will be borne by the solvent partners in the ratio of the last agreed capital.  This is in accordance with the decision in the case of………………………..
7.     
Raise a journal entry to record sales of shares at par.
8.     
On the sale of business, the price paid by an acquiring company is………….
9.    
When partners maintain fixed capital accounts, the journal entries for a 

       
partner’s share of profit is……………………………….  

10.

Freehold land is NOT a depreciable asset because it has………………………
11.    
What is a self balancing account?    

12.
A statement prepared periodically and sent by a banker to its    

          customers is ………………………   
13.  
The remuneration payable to a person in respect of the use of an asset based

        on the extent of exploitation is known as…………….
14.
What basis of apportionment should be used to share rent expenses among constituent departments within an organisation?
15
When goods are transferred to a branch at cost plus 15%, what is the actual cost of goods transferred to the branch at selling price of N32,000?
16.
What is the source of preparing the trial balance of a business entity?
17.
Which accounting concept stipulates that accounting profit is the difference between revenue and expenses?
18. 
Interest on a partner’s drawing is debited to………and credited to……………
19.
The starting point for the preparation of final accounts from incomplete records is the preparation of …………………………
20. 
The transferring of entries to the ledger accounts from the journal is known as ………………………….
SECTION B:  ATTEMPT ANY FOUR QUESTIONS                          (60 Marks)

QUESTION 1

According to Statement of Accounting Standard (SAS) 7,

(a) What is Exchange Rate?






  (1 Mark)

(b) List and discuss different types of Exchange Rates



 (8 Marks)

(c) Explain the main methods of translating the accounts of foreign

operations.



                                                      
 (6 Marks)    
  (Total 15 marks)                                                                                                                                                                                                                                           
QUESTION 2

(a)
What is an Application Package?




           (3 Marks)

(b)
State SIX business areas where Application Packages are used        (6 Marks) (c )
List SIX types of Application Packages, giving examples

 (6 Marks)
                                                                                           (Total 15 marks)                                                                                                            

QUESTION 3

The following are balances extracted from the books of Mahmood Manufacturing Company Ltd as at 31 December, 2010:

	
	N

	Delivery van expenses 
	125,000

	Electricity:   Factory
	142,950

	                    Office
	55,500

	Manufacturing wages 
	2,273,500

	General expenses:   Factory
	282,000

	                                Office
	190,800

	Sales representative:    Commission
	393,000

	Purchase of raw materials
	1,952,700

	Rent:     Factory
	240,000

	             Office
	110,000

	Machinery (cost N2,500,000)
	1,625,000

	Office equipment (cost N750,000)
	550,000

	Office salaries
	742,250

	Debtors
	1,418,500

	Creditors
	972,500

	Bank
	666,850

	Sales
	6,825,800

	Premises (cost N2,500,000)
	2,000,000

	Stock at 31 December, 2009:
	

	          Raw materials
	428,250

	          Finished goods
	1,474,000

	Share capital
	6,872,800


You are provided with additional information thus:

(a)
Stock at 31 December 2010:

· Raw materials
N452,500

· Finished goods
N1,560,000
There was no work-in-progress.

(b)
Depreciation: Machinery-N100,000, Office equipment N75,000 and Premises N50,000                                                                                                         
(c)
Manufacturing wages due but unpaid at 31 December 2010, was  N15,200, office rent prepaid was N5,400.

Required:
Prepare the Company’s Manufacturing, Trading, Profit and Loss Account for the 
year ended 31 December 2010 and the Balance Sheet as at that date.

QUESTION 4

Ahmed, Bola and Chukwu who are in partnership sharing profits and losses in the ratio 2: 2: 1, decided to dissolve the partnership on 31 December 2010 at which date their Balance Sheet was as shown below:

	AHMED, BOLA & CHUKWU

	BALANCE SHEET AS AT 31 DECEMBER 2010

	
	N
	N

	Fixed Assets:
	
	

	   Equipment 
	750,000
	

	   Motor vehicle
	375,000
	1,125,000

	Current Assets:

	   Stock
	200,000

	   Debtors
	112,500
	

	   Bank
	52,500
	

	
	365,000
	

	Current Liabilities:
	
	

	   Creditors
	(75,000)
	290,000

	
	
	1,415,000

	Capital Accounts:
	
	

	   Ahmed
	975,000
	

	   Bola 
	325,000
	

	   Chukwu
	50,000
	1,350,000

	Current Accounts:
	
	

	   Ahmed
	17,500
	

	   Bola
	(7,500)
	

	   Chukwu
	5,000
	15,000

	Loan:  Bola
	
	50,000

	
	
	1,415,000


The partners were unable to sell the business as a going concern.    They therefore disposed the assets separately for the following amounts:
	
	N

	Equipment 
	775,000

	Motor vehicle
	120,000

	Stock
	72,500


Debtors paid in full and creditors gave discount totalling N2,500.  Dissolution expenses totaled N20,000.
Required: 

Prepare the necessary ledger accounts to close the books of Ahmed, Bola and Chukwu & Co.   







 (15 marks)
QUESTION 5

The following balances were extracted from the books of Olojuede Plc as at 31 December 2010 after the preparation of the Trading Account.
	
	N,000

	Share Capital:  Authorised,  issued & fullypaid:
	

	200 million ordinary shares of N1 each
	200,000

	Cash at bank and in hand
	500

	Stock   at 31 December, 2010
	61,200

	Sundry debtors
	19,105

	Sundry creditors
	15,009

	Gross profit from trading account – 31/12/2010 
	128,942

	General reserve
	25,000

	Salaries and wages
	28,430

	Prepayments
	600

	Bad debts
	500

	Accrued expenses
	526

	Directors’ current accounts
	2,500

	Debenture interest (six months)
	600

	Rates and Insurance
	1,520

	Sundry expenses
	4,100

	6% debentures
	20,000

	Electricity
	1,310

	Postages and telephone
	800

	Motor vehicles (Cost N25 million)
	15,000

	Office fittings & equipment (cost N65.5 million)
	42,350

	Profit & loss- 1 January, 2010
	22,300

	Land & building (cost)
	239,362


Additional information:

(a)
Office Fittings and Equipment to be depreciated at 15% on Cost and Motor Vehicles 20% on cost

(b)
Provision to be made for:


Directors’ fees
N6,000,000


Audit fees

N2,500,000

(c)
The amount for insurance included a premium of N600,000 paid in September 2010 to cover the company against fire loss for the period 1 September 2010 to 31 August 2011

(d)
N548,000 in respect of electricity consumed up to 31 December 2010 has not been posted to the ledger.

(e)
The directors have recommended that:


(i)
N15,000,000 be transferred to general reserve


(ii)
5% dividend be paid on ordinary shares.

Required:
Prepare, in vertical format, the Profit and Loss Account and Balance Sheet of Olojuede plc for the year ended 31 December 2010.

                                                                                                                     (15 Marks)

QUESTION 6

Yobo Nigeria Limited has its head office in Lagos with a branch in Kano.  Goods are sent to the branch at cost plus mark-up of 25% which is the branch selling price.  The following are details of the Kano branch transactions for the year ended 30 June 2009.
	
	N,000

	Opening stock at branch selling price
	100,000

	Goods sent to branch at selling price
	900,000

	Goods returned to the head office by branch customers (all at normal selling price)
	90,000

	Credit sales
	600,000

	Cash sales
	192,000

	Authorised allowance off selling price
	8,000

	Goods returned to Head office by branch customers at selling price
	40,000

	Cheque/ cash received from branch customers
	400,000

	Cash discount allowed to branch customers
	20,000

	Branch sundry expenses paid by the head office
	50,000

	Cash stolen at branch
	10,000

	Goods stolen at branch at selling price
	30,000

	Closing stock at branch at selling price
	110,000


You are required to prepare the following accounts in the ledger of the head office to record the transactions of the branch using COST PLUS MARK-UP METHOD:    

(a)
Branch stock account

(b)
Branch stock adjustment account         
(c)
Goods sent to branch account

(d)
Branch debtors account                                   


         (15 marks)                                                                                                                                            
SOLUTIONS TO SECTION A

PART I  -  MULTIPLE CHOICE QUESTIONS

1.
A

2.
D

3.
B

4.
C

5.
C

6.
E

7.
D

8.
C

9.
D

10.
E

11.
D

12.
C

13.
B

14.
C

15.
C

16.
D

17.
B

18.
C

19.
C

20.
B

TUTORIAL











7.
(2,400,000 X 20%) + 1,600,000 X 20%)=9/12 X 600,000X20%=
N550,000

10.
(N890,000 + N95,000+10,000 +N20,000) 


   =  N1,015,000












        N

17.
Depreciation 2004 to 2008, (10% x N100,000)×5

  =
    50,000


Depreciation 2009 (6 months) N10,000÷2


  =
      5,000











    55,000

18.
Net Book value ( N100,000 – N55,000)



  =
    45,000
19.
Loss on Disposal ( N45,000−N30,000)



  =
    15,000
EXAMINERS’ REPORT
The questions cover all sections of the syllabus and were attempted by all candidates and their performance was very good.

PART II – SHORT-ANSWER QUESTIONS

1.
Consistency concept

2.
N178,800

3.
N114,432

4.
In equal proportion

5.
Current asset or debtors

6.
Garner V Murray

7.
Dr. Cash Book, Cr. Ordinary Shares Account

8.
Purchase consideration

9.
Dr. Profit & Loss Appropriation Account, Cr. Partner’s Current Account

10.
Unlimited useful life or infinite life span

11
Control Account or Total Account

12.
Bank Statement 

13.
Royalty

14.
Floor area occupied

15.
N27,826 

16.
Net balances from the ledger accounts

17.
Matching concept

18.
Partner’s current Account and Profit and Loss Appropriation Account

19.
Statement of Affairs

20.
Posting

TUTORIALS 

2.
Cost




894,000


Depreciation 20% × N894,000
178,800







715,200


2008
20% × N894,000 =N178,800

3.
2009
20% × N894,000 – N178,800 =N143,040


2010
20% × N894,000 –(N178,800 –N143,040) =N114,432

15.
100 X N32,000 ÷ 115 = 27,826

EXAMINERS’ REPORT
The questions cover all sections of the syllabus and were attempted by all candidates.  The candidates’ performance was very good.

SECTION B

SOLUTION 1

a.
Exchange Rate is the rate at which the local currency is exchanged for the currency of another country.


b.
The Exchange Rates used are:

(i) Official Exchange Rate: This is the established rate by the appropriate governmental agency for eligible transactions. Before the introduction of the Foreign Exchange Markets in September 1986, the Central Bank of Nigeria provided the only official exchange rate in Nigeria.

(ii) Spot Rate:  This is the exchange rate prevailing on a particular day.  It is usually the rate used to settle accounts at the end of the day for immediate delivery of currency.  In Nigeria, each authorized dealer has spot rates determined either from biddings on Foreign Exchange Market or from negotiated rates on funds from other sources.

(iii) Closing Rate of Exchange: This is the exchange rate ruling at the Balance Sheet date.

(iv) Forward Rate: This is the rate quoted or agreed upon now for future delivery of currency between the parties involved.

c.
Main methods of translating the accounts of foreign operations are:

(i)
Closing Rate Method:  All assets and liabilities are translated at the rate ruling at the balance sheet date.  This method is also referred to as the current rate method.

(ii)
Temporal Method:  Current assets and liabilities are translated at the rate ruling at the balance sheet date and non-current assets and liabilities are translated at the applicable historical rate at the dates they were acquired or incurred.  This method is also referred to as the current/non-current method.

(iii) Monetary and Non Monetary Method: Monetary assets and liabilities are translated at the rate ruling at the balance sheet date and non-monetary assets and liabilities at the historical rates ruling at the dates they were acquired or incurred.  Assets and liabilities are regarded as monetary, if their nominal values are fixed.  All other balance sheet items are classified as non-monetary.

EXAMINERS’ REPORT

The question tests candidates’ knowledge of  ‘’Foreign Currency Conversion and Translations (SAS 7).  The question was attempted by few candidates and performance was very poor.  The candidates that attempted the question were not familiar with the provisions of the standard.     
Candidates are advised to cover all sections of the syllabus before writing the examinations.

SOLUTION 2
a.
An application package is a program or set of programs of a generalized nature designed to solve a particular business problem.   Many users have the same type of problem for computerisation thus Manufacturers and specialist software writers have written standard programs to solve these problems and sell them to many users who want them.

b.
Business application areas where application packages are used include:  General ledger, payroll, sales ledger, purchases ledger, production control, stock control, fixed assets management, supply chain management, resource planning system, sales invoicing and project management (Network Analysis), tax computation, word processing.

c.
(i)
Word processing, Examples are WordStar, WordPerfect, Microsoft 



Word, Professional Write and Multimate.

(ii)
Spreadsheet: Examples  are: Lotus 1-2-3, Microsoft Excel, Paradox and Supercale, Viscale, Multicalc.

(iii) Desktop Publishing: Examples are: Coreldraw, adobe pagemaker, Microsoft power point, Harvard graphics, Ventura publisher and Printshop.
(iv) Database Management System: Examples are Foxpro, Clipper and Dbase Oracle.

(v) Utilities :  Examples are  Pettool and Norton Antivirus

(vi) Banking: Examples are Globus, Finacle, Flexible and Bankmaster


(vii)
Accounting: Examples are Daceasy, Peachtree and Sage.

EXAMINERS’ REPORT

The question tests candidates’ knowledge of application packages in the areas of business where they are used.  Few candidates attempted the question and the performance was poor.   Candidates were not familiar with accounting packages in a computerised environment.  
Candidates are advised to be familiar with current application packages.

SOTUTION 3
	MAHMOOD MANUFACTURING COMPANY LTD
MANUFACTURING, TRADING, PROFIT AND LOSS ACCOUNTS FOR THE YEAR ENDED 31 DECEMBER, 2010

	
	N
	N

	Raw Materials :
	
	

	Opening stock
	
	428,250

	Purchases
	
	1,952,700

	
	
	2,380,950

	Closing stock
	
	(452,500)

	
	
	1,928,450

	Manufacturing wages (2,273,500+15,200)
	
	2,288,700

	Prime cost of  production
	
	4,217,150

	Factory Overheads:
	
	

	Electricity
	142,950
	

	General expenses
	282,000
	

	Rent
	240,000
	

	Depreciation of Machinery
	100,000
	764,950

	Manufacturing or production cost
	
	4,982,100

	Finished Goods :
	
	

	Sales
	
	6,825,000

	Cost of Sales :
	
	

	Opening stock
	1,474,000
	

	Cost of goods produced
	4,982,100
	

	
	6,456,100

(1,560,000)
	

	Closing stock
	
	(4,896,100)

	Gross profit for the year 
	
	1,928,900

	Expenses:
	
	

	Delivery Van expenses
	125,000
	

	Electricity
	55,500
	

	General expenses
	190,800
	

	Sales representative commission
	393,000
	

	Rent (110,000-5,400)
	104,600
	

	Depreciation : Office equipment
	75,000
	

	                      Premises
	50,000
	

	Office Salaries
	742,250
	(1,736,150)

	Net profit for the year
	
	192,750


	MAHMOOD MANUFACTURING COMPANY LTD
BALANCE SHEET AS AT 31  DECEMBER , 2010

	
	
	
	

	
	COST
	DEPRECIATION
	NBV

	Fixed Assets:
	N
	N
	N

	Premises
	2,500,000
	550,000
	1,950,000

	Machinery
	2,500,000
	975,000
	1,525,000

	Office Equipment
	750,000
	275,000
	475,000

	
	5,750,000
	1,800,000
	3,950,000

	Current Assets :
	
	
	

	Stock-    Raw Materials
	452,500
	
	

	             Finished goods
	1,560,000
	2,012,500
	

	Debtors
	
	1,418,500
	

	Prepaid office rent
	
	5,400
	

	Bank
	
	666,850
	

	
	
	4,103,250
	

	Current Liabilities :
	
	
	

	Creditors 
	972,500
	
	

	Accrued Manufacturing wages
	15,200
	(987,700)
	

	Net current assets
	
	
	3,115,550

7,065,550

	Net Assets
	
	
	

	
	
	
	

	Financed by:
	
	
	

	Authorised,Issued and paid-up share capital:
	
	
	

	6,872,800 ordinary shares of N1 each
	
	
	6,872,800

	Net profit for the year
	
	
	192,750

	
	
	
	7,065,550


EXAMINERS’ REPORT

The question tests candidates’ knowledge of the preparation of manufacturing trading, profit and loss account and balance sheet.   The question was attempted by all candidates.  The performance was very good.

Candidates are advised to maintain the standard.
SOLUTION 4

	AHMED, BOLA AND CHUKWU

REALISATION ACCOUNT

	
	N
	
	N

	Equipment 
	750,000
	Bank- proceeds from  sale of equipment
	775,000

	Motor Vehicle
	375,000
	Bank- proceeds from sale of  motor van
	120,000

	Stock 
	200,000
	Bank- proceeds from stock
	72,500

	Debtors
	112,500
	Bank -debtors
	112,500

	Dissolution Expenses
	20,000
	Creditors
	2,500

	
	
	Share of loss:
	

	
	
	Ahmed (2/5 x N375,000)
	150,000

	
	
	Bola (2/5 x N375,000)
	150,000

	
	________
	Chukwu (1/5 x N375,000)
	_75,000

	
	1,457,500
	
	1,457,500


	CAPITAL ACCOUNT

	
	AHMED
	BOLA
	CHUKWU
	
	AHMED
	BOLA
	CHUKWU

	
	N
	N
	N
	
	N
	N
	N

	Current 
	−
	7,500
	−
	Bal b/d
	975,000
	325,000
	50,000

	Loss on realization
	150,000
	150,000
	75,000
	Current A/c 
	17,500
	−
	5,000

	Bank
	842,500
	167,500
	−
	Bank
	−
	−
	20,000

	
	992,500
	325,000
	75,000
	
	992,500
	325,000
	75,000


	CURRENT ACCOUNT

	
	AHMED
	BOLA
	CHUKWU
	
	AHMED
	BOLA
	CHUKWU

	
	N
	N
	N
	
	N
	N
	N

	Bal b/d
	−
	7,500
	−
	Bal b/d
	17,500
	
	5,000

	Capital 
	17,500
	−
	5,000
	Capital 
	−
	7,500
	

	
	17,500
	7,500
	5,000
	
	17,500
	7,500
	5,000

	
	
	
	
	
	
	
	


	BANK CASH BOOK 

	
	N
	
	N

	Bal b/d
	52,500
	Creditors
	72,500

	Realisation:
	
	Realisation:
	

	Proceeds from sale of  equipment
	775,000
	Dissolution expenses
	20,000

	Proceeds from sale of motor vehicle
	120,000
	Loan:  Bala
	50,000

	Proceeds from stock
	72,500
	Capital: Ahmed
	842,500

	Debtors
	112,500
	            Bola
	167,500

	Capital: Chukwu
	20,000
	
	________

	
	1,152,500
	
	1,152,500


EXAMINERS’ REPORT

The question tests candidates’ knowledge of the principles of dissolution of partnership.   Most candidates attempted the question and the performance was above average.   The commonest pitfall was that few candidates prepared revaluation account instead of realisation account.  
Candidates are advised to be familiar with the requirements of a question before   attempting it.

SOLUTION 5

	OLOJUEDE PLC

PROFIT AND LOSS ACCOUNT FOR THE YEAR ENDED 31 DECEMBER, 2010

	
	N’000
	N’000
	N’000

	Gross profit
	
	
	128,942

	less:   Depreciation
	
	
	

	         Office Fittings & Equipment
	9,825
	
	

	         Motor Vehicles
	5,000
	14,825
	

	Director  fees
	
	6,000
	

	Audit fees
	
	2,500
	

	Salaries & Wages
	
	28,430
	

	Debenture interest
	600
	
	

	 Accrued interest 
	600
	1,200
	

	Bad debts
	
	500
	

	Sundry expenses
	
	4,100
	

	Rates & Insurance
	1,520
	
	

	 Prepaid insurance (8/12 x N600,000)
	___(400)
	
	

	
	
	1,120
	

	Electricity
	1,310
	
	

	Accrued  Electricity
	548
	
	

	
	
	1,858
	

	Postages & Telephone
	
	800
	

	
	
	
	61,333

	Net  profit
	
	
	67,609

	Appropriation :
	
	
	

	General Reserve
	
	
	15,000

	Retained profit for the year
	
	
	52,609

	Retained profit b/fwd
	
	
	22,300

	Retained profit c/fwd
	
	
	74,909


	OLOJUEDE PLC

BALANCE SHEET AS AT 31 DECEMBER , 2010

	
	Cost        N’000
	Depreciation N’000
	NBV  N’000

	Fixed Asset :
	
	
	

	Land & Building 
	239,362
	−
	239,362

	Motor Vehicles
	25,000
	15,000
	10,000

	Office Fittings & Equipment
	65,500
	32,975
	32,525

	
	329,862
	47,975
	281,887

	
	
	
	

	Current Assets:
	
	
	

	Stock
	60,100
	
	

	Sundry Debtors
	19,105
	
	

	Prepayment 
	1,000
	
	

	Cash
	500
	80,705
	

	Current Liabilities :
	
	
	

	Sundry  creditors
	15,009
	
	

	Accrued Expenses
	3,574
	
	

	Accrued debentures interest
	600
	
	

	Directors  current (2,500,000 +6,000,000)
	8,500
	(27,683)
	

	
	
	
	53,022

	
	
	
	334,909

	
	
	
	

	Financed by :
	
	
	

	Share capital
	
	
	

	Authorised issued & fully paid:
	
	
	

	200 million ordinary shares of N1 each
	
	
	200,000

	General reserve
	
	
	40,000

	Profit & Loss
	
	
	74,909

	
	
	
	314,909

	6% Debenture
	
	
	20,000

	
	
	
	334,909

	
	
	
	


Note : 5% dividend on ordinary shares to be declared at the Annual General Meeting.

WORKINGS:
Accrued expenses (N526,000 + N548,000 + N2,500,000) = N3,574,000

Depreciation:

Office Fittings & Equipment 15% x N65.5m = N9,825,000

Motor Vehicles 20% x N25m = N5,000,000

EXAMINERS’ REPORT

The question tests candidates’ knowledge of the preparation of company’s financial statements.  The question was attempted by most candidates and the performance was good.  Candidates are advised to sustain this performance.
SOLUTION 6

	BRANCH STOCK ACCOUNT

	
	    N’000
	
	  N’000

	Bal b/f
	100,000
	Goods sent to branch (4/5 x 90,000,000)
	72,000

	Goods sent to branch (4/5 x 900,000,000)
	720,000
	Branch Adj (1/5 x 90,000,000)
	18,000

	Branch Stock Adj
	
	Branch Debtors (Sales)
	600,000

	(1/5 x 900,000)
	180,000
	Cash book (sales)
	192,000

	Branch debtors (returns)
	40,000
	Branch stock Adj
	8,000

	Branch  Debtors (returns- HO)
	90,000
	Branch  P&L Account (4/5 x 30,000,000)
	24,000

	
	
	Branch Stock Adj (1/5 x 30,000,000
	6,000

	
	
	Branch Stock Adj-Stock
	

	
	
	Deficient
	100,000

	
	
	Bal c/d
	110,000

	
	1,130,000
	
	1,130,000

	Bal b/d
	110,000
	
	


	BRANCH STOCK ADJUSTMENT  ACCOUNT

	
	    N’000
	
	  N’000

	Branch stock (1/5 x 90,000,000)
	18,000
	Bal b/d (1/5 x 100,000,000)
	20,000

	Branch debtors (1/5 x 20,000,000)
	4,000
	Branch Stock(4/5 x 900,000,000)
	180,000

	Branch stock allowance
	8,000
	
	

	Branch stock (1/5 x 30,000,000)
	6,000
	
	

	Branch stock- stock deficiency
	100,000
	
	

	Branch Gross profit
	46,000
	
	

	Bal c/d (1/5 x 110,000)
	22,000
	
	_______

	
	200,000
	
	200,000


	GOODS SENT TO BRANCH ACCOUNT

	
	    N’000
	
	  N’000

	Branch stock (4/5 x 90,000,000)
	72,000
	Branch Stock (4/5 x 900,000,000)
	720,000

	Purchases
	648,000
	
	________

	
	720,000
	
	720,000


	BRANCH DEBTORS ACCOUNT

	
	    N’000
	
	  N’000

	Branch stock (sales)
	600,000
	Branch stock (Return to HQ)
	90,000

	
	
	Branch stock (Returns)
	40,000

	
	
	Cash book
	400,000

	
	
	Branch discount allowance
	20,000

	
	
	Bal c/d
	50,000

	
	600,000
	
	600,000

	Balance b/d
	50,000
	
	


EXAMINERS’ REPORT

The question tests candidates’ knowledge of the preparation of branch accounts.   Most candidates attempted the question and the performance was poor.  The commonest pitfall was that most candidates did not post the branch stock items correctly. 
Candidates are advised to ensure that they understand the basic requirements of a question before attempting it.
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EXAMINATION NO...................................

THE INSTITUTE OF CHARTERED ACCOUNTANTS OF NIGERIA

FOUNDATION EXAMINATION – MAY 2011

ECONOMICS AND BUSINESS ENVIRONMENT 

Time allowed – 3 hours  

SECTION A:  Attempt All Questions

PART I:    MULTIPLE-CHOICE QUESTIONS 


 (20 Marks)

1. Which of the following is NOT a flow variable? 

A. Output
B. Public expenditure
C. Bank deposit
D. Investment
E. Consumption.
2. Assuming the point elasticity coefficient for demand curve D1, D2 .....D5 are: [image: image2.png]


1 [image: image4.png]0.50, €



2 [image: image6.png]


 [image: image8.png]


3 [image: image10.png]1.5,¢



4 [image: image12.png]0.15, €



5 [image: image14.png]1.75,



respectively, then the revenue maximising strategy requires that sellers should decrease price along 
A. D1 and D2
B. D1 and D3
C. D1 and D4
D. D1 and D5
E. D3 and D5.
3.
Along the production possibilities frontier/curve, the trade–off between two commodities is 

A. Marginal Rate of Commodity Substitution.
B. Marginal Rate of Technical Substitution.
C. Isoquant.
D. Ogive.
E. Marginal Rate of Transformation.
4. 
In the basic model of perfect competition, which of the following methods of resource allocations is efficient?

A. Lotteries  

B. Government  fiat
C. Prices
D. Queuing
E. OMO.
5. 
In a given year, the sum of value added in each sector of the economy was N1.25billion.  The amount which represents GNP for this country is measured by 

A.  factor price approach.
B.  output approach. 

C.  income approach.
D.  expenditure Approach.
E.  value–added approach.
6. 
To increase the money supply, the Central Bank of Nigeria will have to

A. increase the reserve requirements on bank deposits.
B. reduce the reserve requirements on bank deposits. 

C. sell more securities via open market operations.
D. restrict the interbank lending rate.
E. peg the demand for money.
7.
Which of the following is a medium term plan?


A.
National plan 


B.
Annual plan 


C.
Perspective plan

D.
Rolling plan

E.
Development plan.
8.   
If Ghana has an absolute advantage in the production of cocoa to Nigeria then

A.
less resources are required to produce cocoa in Ghana relative to Nigeria.

B.
Ghana has a comparative advantage in the production of cocoa.
C.
the opportunity cost of producing cocoa is lower in Ghana than it is in Nigeria.
D.
Nigeria has absolute advantage in the production of another commodity than Ghana.
E.
there is no potential for mutually beneficial trade between the two countries.
9.
Which of the following is NOT a visible item in international trade payments?

A.
Payment for imported cars.
B.
Receipt from Cocoa exports.
C.
Payments to foreign shipping companies. 
D.
Payment for petroleum imports.
E.
Payment for steel imports.
10.
The form of assistance (cash, kind or both) received by a country that suffers from disaster(s) is


A.
economic stimulus.

B.
economic aid.

C.
financial assistance.

D.
loans and grants.

E.
debt forgiveness.
11.
When interest rates fall,


A.
bond prices rise.

B.
bond prices decrease.

C.
short term bond prices increase.

D.
bond prices will not be affected.

E.
short term bond prices increase but long term bond prices decrease. 

12.
By definition, labour force is the total number of individuals who are


A.
unemployed.


B.
employed.


C.
either employed or unemployed.


D.
of working age.


E.
below retirement age.

13.
A substantive alteration of the task, people, structure or technology of an organisation is known as organisational


A.
dynamics.


B.
change.


C.
development.


D.
adjustment.


E.
transformation.

14.
The division of buyers into different groups on the basis of personality traits, lifestyle, or values, attitudes and interest is .............................segmentation.


A.
benefit 


B.
behavioural  


C.
demographic 


D.
psychographic 


E.
geographic

15.
The use of a third party to encourage both sides to continue negotiating and make suggestions for resolving the dispute is 

A. mediation.

B. accommodation.

C. arbitration.

D. collaboration.

E. competition.

16.
The application of the principles of openness or transparency, competency and equal opportunity to all in the conduct and award of contracts to ensure that public funds are judiciously spent is............................process.

A. deregulation 

B. corporate governance 

C. due 

D. business re-engineering 
E. ethical business

17.
The theory that assumes that employees dislike work, are lazy, avoid responsibility and must be coerced to perform is known as

A. Chris Arygris maturity - immaturity theory. 

B. Mcgregor’s theory Y.

C. Theory Z.

D. Two factor theory.

E. Mcgregor’s theory X.

18.
In Mintzberg’s managerial role, the manager who acts as symbolic head, obliged to perform a number of routine duties of a legal or social nature is referred to as

A. liaison.

B. resource allocator.

C. figure head.

D. spokesperson.

E. monitor.

19.
The communication system that enables managers to operate in different locations by conversing among themselves simultaneously by means of telephone or electronic mail is 

A. internet.

B. teleconferencing.

C. intranet.

D. e-communication.

E. e-Commerce.

20.   An organisation that has the capacity to create, acquire and transfer 
knowledge as well as modify its behaviours to reflect new knowledge and insights is said to be a ....................................organisation.

          A.      virtual 

          B.      knowledge 

          C.      responsive 

          D.      dynamic 

          E.      learning.

PART II 
SHORT ANSWER QUESTIONS                 
             (20 MARKS)

1.
A set of assumptions or hypotheses and conclusions derived therefrom is ..........

2.
If the cross elasticity of demand is positive, the two commodities are...............

3.
The 1999 minimum wage differs from 2011 approved minimum wage by what amount?

4.
A group of companies operating jointly as if they were a monopoly is called a ..................................

5.
The demand by economic agents for anything and everything produced in a closed economy is referred to as.....................................

6.
The standard measure of output is..................................

7.
The apex bank in the United States of America is ...............................
8.
A country is said to have a .................. in the production of a commodity over its trading partners if it is relatively more efficient at producing that commodity.
9.
The technical removal of trade barriers and subsequent conversion of the world into a single market is called........................
10.
State the Fisher Equation of the quantity theory of money.............................
11.
The government total outstanding borrowing is referred to as....................
12.
A monetary system in which a currency could be converted into gold at a guaranteed value on demand is known as........................

13.
The degree to which an employee identifies with the organisation and wants to continue to actively participate in it is.........................
14.
When an organisation has a work schedule that gives employees some freedom to choose when to work, as long as they work the required number of hours, it is said to be using..........................

15.
A companywide communication network closed to the public and based on internet type technology is................................

16.
The process of managing the sequence of activities and information along the entire product chain is called............................... 

17.
The creation, maintenance and enhancement of long-term relationship by a company with individual customers as well as other stakeholders for mutual benefit is known as.................................

18.
The physical arrangement of resources including people in the production process is called..............................

19.
The dividing up of a market into distinct groups that have common needs and will respond similarly to a marketing action is known as.................

20.
The process of coping with uncertainty by formulating future courses of action to achieve specified results is...........................   

SECTION B  -  ATTEMPT ANY FOUR QUESTIONS     

            (60 MARKS)

QUESTION 1

(a)
What is a firm?         


  


            (5 Marks)

(b)
Explain any FOUR factors responsible for the concentration of industries in an area.



      



         (10 Marks) 

              







      (Total 15 Marks) 

QUESTION 2

Copy and complete the table below and clearly show your workings.
	Y
	C
	S
	APC
	APS
	MPC
	MPS

	3
	2.40
	
	
	
	
	

	4
	3.12
	
	
	
	
	

	5
	3.75
	
	
	
	
	

	6
	4.26
	
	
	
	
	


where:

Y = Income

C= Consumption

S = Saving

APC = Average propensity to consume

APS = Average propensity to save

MPC = Marginal propensity to consume

MPS = Marginal propensity to save.
             


    





          (15 Marks)

QUESTION 3

(a) 
What is a Stock Exchange?





            (3 Marks) 

(b) 
Briefly discuss the roles of the Nigerian Stock Exchange (NSE).  
 (6 Marks)

(c )
Write short notes on the structure of the Nigerian Stock Exchange.
 (6 Marks)

 (Total 15 Marks) 
QUESTION 4

(a) 
List any THREE of the African Regional Economic Communities.       (3 Marks)
 (b) 
Discuss FOUR benefits which Nigeria stands to gain from her membership of any of the three bodies listed above.  
    


          (12 Marks)
      









 (Total 15 Marks)
QUESTION 5

The management of Bamboo Export Plc recently computerised its accounting system.   The reaction of members of staff to this change has been negative especially by those in Financial Accounts Department.   The general belief is that the change will lead to job cuts.
(a) 

Identify THREE possible reasons for resistance to change in any organisation.  












            (6 Marks)

(b) 
Suggest THREE techniques that may be adopted by management of Bamboo Export Plc to reduce resistance of staff to the change initiated by the company. 







            (9 Marks)
                     







       (Total 15 Marks)

QUESTION 6

Discuss, with reasons, why an organisation is often described as an open system. 


   






          (15 Marks)
SOLUTIONS TO SECTION A

PART I   -  MULTIPLE CHOICE QUESTIONS

1.
C
2.
E
3.
E
4.
C
5.
B
6.
B
7.
D
8.
A
9.
C
10.
B

11.
A

12.
C

13.
B

14.
D

15.
A

16.
C

17.
E

18.
C

19.
B

20.
E
EXAMINERS’ REPORT

The questions adequately cover the syllabus. The performance of the candidates was poor. 

Candidates are advised to be more serious with their studies. 

PART II – SHORT-ANSWER QUESTIONS

1.
A theory
2.
Substitutes 

3.
Approved minimum wage in 2011      =     N18,000

          Approved minimum wage in 1999      =       N7,500


Difference:   N18,000 -  N7,500           =     N10,500
4.
Cartel
5.
Aggregate demand

6.
Gross Domestic Product (GDP)
7.
Federal Reserve Bank
8.
Comparative advantage 
9.
Globalisation

10.
MV  =  PQ
11.
Government debt/Public debt
12.
Gold Standard
13.
Organisational commitment
14.
Flexitime 
15.
Intranet
16.
Value Chain Management

17.
Relationship Marketing
18.
Facility Layout/Factory Layout/Plant Layout
19.
Market segmentation
20.
Planning.
EXAMINER’S REPORT

The questions adequately cover the syllabus.  Candidates’ performance was poor.
Candidates are advised to cover the whole syllabus in their studies for better performance.
SECTION B



SOLUTION TO QUESTION 1

(a)
A firm is a production unit that organises factor inputs and employs them in production activities with the aim of making profits from the sale of goods and services produced.

(b)
Factors responsible for concentration of industries in an area include:


(i)
Government Policy:  Government may designate a specific area as an industrial estate and mandate prospective investors to site their businesses within that area.


(ii)
Economies of Scale:  Industries develop and investors concentrate the sitting of their industries where economies of scale exist.  As a result of the concentration of industries in an area, the cost of doing business, transportation costs, services etc. reduce.


(iii)
Market: The essence of production is to make profit from the sales of the products.  Therefore, firms tend to locate and concentrate where there is market for their products.

(iv)
Availability of Labour:  Firms/industries tend to locate where they have        easy and adequate supply of both skilled and unskilled labour.  Industries spring up in major cities because of the high concentration of people/labour for productive activities.


(v)
Availability of Infrastructure:  The presence of social infrastructure such as good roads, water supply, Security and Communication System do attract firms to an area.  


(vi)
Presence of Financial Institutions and other Service Providers:  The availability of complementary services such as banks, insurance, media houses, do attract some firms to cluster in an area.  This benefits the firms because if they locate further away, the cost of engaging these services may be too much for the firms. 

EXAMINERS’REPORT

The question tests candidates’ knowledge of operational definition of a firm and the concept of concentration of industries in an area.

Candidates’ performance was below average.

Candidates showed a shallow understanding of the operational definition of a firm as well as a confused understanding of the concept of “concentration of industries in an area”.  Instead of identifying reasons for concentration of industries in an area, many of the candidates preoccupied themselves with the reasons for the location of firms/industries in an area.  Even though “location factor” and “concentration factors” for industries may have some common elements, they are essentially not one and the same thing as the above industry concentration factors show.  
Candidates are advised to study questions thoroughly and ensure that they understand their requirements before attempting to solve them.
QUESTION 2

In completing the Information contained in the table, the following are to be noted:

(i)
          Y     =    C + S

      Hence,   S     =    Y -  C

(ii)              MPC =    Δc/ΔY and by Implication

                     MPS =     ΔS/ΔY

(iii)
         APC  =     C/Y and APS  =  S/Y

(iv)            MPC  +   MPS  = I

      Hence   MPS =    I  -  MPC

	Y
	  C
	  S
	APC
	APS
	MPC
	MPS

	3
	2.40
	0.60
	0.80
	0.20
	  - 
	   -

	4
	3.12
	0.88
	0.78
	0.22
	0.72
	0.28

	5
	3.75
	1.25
	0.75
	0.25
	0.63
	0.37

	6
	4.26
	1.74
	0.71
	0.29
	0.51
	0.49


EXAMINERS’ REPORT

The question tests candidates understanding of concepts of national income, their appropriate measurements and applications.   Candidates’ performance was good.  A few of the candidates did not understand the concepts of marginal propensity to consume (MPC) and marginal propensity to save (MPS), average propensity to save and average propensity to consume as shown in the above suggested solution to the question.  For example, some candidates defined average propensity to consume as MPC = Y/C rather than MPC = C/Y and to save as MPS  =  Y/S rather than MPS  = S/Y.  The use of these wrong formulae for the concepts of MPC and MPS yielded wrong results and loss of marks and lower performance.

Candidates are advised to pay attention to concepts and their appropriate measurements and applications.

QUESTION 3
(a)
A Stock Exchange is a medium or platform where/through which businesses or firms can raise new capital for business expansion.  On the floor of the Stock Exchange, Stock brokers buy and sell stocks and shares on behalf of their clients.

(b)
There are two (2) major functions of the NSE.  These functions are to create

(i) market place or a platform where firms can raise new capital.  This medium is called primary market.

(ii) a forum where shareholders can trade in shares of listed companies.  This is called the secondary market.

(c)
The Nigerian Stock Exchange is owned by its members most of whom operate in Nigerian cities and towns. The Exchange is directed and controlled by its Council.  The council has an upper limit of 25 members, comprising individuals (who by their track records can make valuable contributions) Institutions and stock broking firms. Each group controls one third of the members of the Council.  The Council makes decisions on the policies of the NSE.  The Council’s decisions are carried out by a full-time executive committee headed by the Director-General.

EXAMINERS’ REPORT

The question tests the definition, roles and structure of the Nigerian Stock Exchange (NSE).  Candidates’ understanding of the question was satisfactory.  Many candidates attempted the question and their performance was good.  However, some of the candidates appeared to be confused about the structure of the NSE as such candidates only outlined the functions and principal officers of the Stock Exchange.
Candidates are advised to familiarize themselves with the structure of Nigerian Stock Exchange and other similar regulatory bodies.
QUESTION 4
(a)
African Regional Economic Communities:

(i) African Union (AU)
(ii) Economic Community of West African States (ECOWAS)

(iii) East African Community (EAC)

(iv) South African Development Community (SADC)

(v) Common Market of Eastern and Southern Africa (COMESA)

(b)
Benefits Nigeria stands to gain in ECOWAS

i) Market:  Being a member of ECOWAS affords Nigeria a wider market for the sale of its products, employment of its manpower resources, etc

ii) Specialization:  Nigeria derives economic advantage of specializing in the production of those goods and services in which it has comparative advantages in its transactions with member countries of ECOWAS.

iii) Manpower: With free movement of labour across the region, Nigerians are everywhere across the region making their expertise and skills available to member countries and thus helping them drive their economies.  Likewise, Nigeria is benefitting from the expertise of some citizens from other countries in the region.

iv) Technical information: Nigeria benefits from technical information shared among member states.
EXAMINERS’ REPORT

The question tests candidates’ knowledge of African Regional Economic Communities and benefits derived therefrom.   Candidates’ performance was poor. Many candidates were unable to list correctly the African Regional Economic Communities.  In addition, the benefits as requested to be identified and discussed were handled poorly.  
Candidates are advised to put in more efforts into their studies and work hard to improve their communication skills.
QUESTION 5

(a) 
Reasons for resistance to change are:

   (i)
Uncertainty:  Change involves some degree of uncertainty and ambiguity.  Thus, change in an organisation can create a state of ambiguity and uncertainty concerning such issues as job security, ability to retain present position and carryout present responsibilities.

   (ii)
Change in habits/Work Methods:  Workers in an organisation might have already formed habits about how things were done prior to the change.  Thus, change in habits or work methods which have become necessary due to computerisation could steer up some resistance.

  (iii)
Loss of Skill:  Computerisation in an organisation could give rise to loss of existing skills.  This may be a cause of resistance to change.

  (iv)
Economic Loss: Change may result in loss of income and promotion opportunities.  These can lead to resistance to change.

    (v)
Social Loss:  Change may lead to loss of social relationships.  This arises because friends, co-workers etc have either lost their jobs or have been redeployed to other departments.

    (vi)
Lack of awareness or information about need for change:  People may resist change if they are not fully aware or do not understand the need for the change.

  (vii)
Belief that change is not in the organisation’s best interest:  Some workers may feel that the newly introduced change is at variance with the interest of the organisation and as such resist the change.

(b)
Techniques for managing change at Bamboo Export Plc include:

 (i)
Education and Communication: Effective and regular communication with employees to help them appreciate the need for computerisation will reduce resistance to change. Employees should be educated through one-on-one discussion, memos, group meetings etc.

(ii)
Participation: Those that may be affected by the change are given the opportunity to participate in the decision since involvement can lead to better understanding of the change, reduce resistance to change, obtain commitment to its success and increase the quality of the change decision.

(iii)
Facilitation and Support: Employees counselling and new skills training specifically in the area of computing will also reduce resistance to change.

(iv)
Negotiation:  This involves Bamboo Export Plc interacting with the staff affected by the computerisation to arrive at a position that is mutually acceptable to both parties.  It involves exchanging something of value in return for the staff dropping their resistance to the change.  It is a “give and take” process at the end of which both parties are satisfied.

(v)
Manipulation and Cooptation: Management may proceed to manipulate information to make the change to be attractive to employees. Management may also co-opt a member of the resisting group into management team so as to weaken resistance to the change.

(vi)
Coercion: This involves the use of direct threat and/or force. Although inexpensive to apply, it may backfire.  It may be perceived as bullying, unethical or illegal. 

EXAMINERS’ REPORT

The question tests candidates’ ability to identify reasons for resistance to change in organizations as well as the techniques that might be used by management to reduce resistance to change.  Many candidates attempted the question and performance was above average.  
However, some candidates merely listed points without explaining them,
while others dwelt on training and retraining ignoring other techniques.  
Candidates are advised to demonstrate their knowledge through explanation if the question provides the opportunity to do so.
QUESTION 6

An open system is one that interacts with its environment.  An organisation is an open system because it has the following characteristics:

(i)
Interaction with the external environment:  The organisation is an open system because it depends on the inputs of raw materials, money, people, information etc and relies on the external environment to absorb its output.

(ii)
Differentiation: that is, the tendency towards greater specialisation and multiplicity of roles.  As organisations become larger, they tend to develop specialised functions and roles to deal with the demands of its environment. 

(iii)
Throughput or conversion: Organisations process inputs received from the environment into goods and services needed by its customers.

(iv)
Output process:  Organisations dispose of their output into the environment by exchanging them with customers who pay for them.

(v)
Feedback: Having disposed of their output to the environment, it receives reactions on the extent to which the output meets the expectations of customers and other stakeholders. For example, a positive reaction from customers translates to increasing sales while negative reaction results in decreasing sales.

(vi)
Negative entropy:  Entropy is the natural process by which all things tend to break down or die.  To counter negative entropy, organisations take action to renew themselves by storing or building up reserves of materials, money, people etc or by replacing obsolete technology and people who have retired or died.

(vii)
Integration of interdependent specialised units: Any system consists of subsystems that are interdependent. But for the goals of the system to be achieved, the interdependent subsystems must be integrated, and focused on overall system goal achievement.

In the same way, marketing, production, finance and accounts departments in successful organisations are integrated and work together to achieve their goals.

(viii)
Equifinality:  Means that open systems do not have to achieve their goals in one particular way. Different organisations achieve their respective goals using different methods and adopting different perspectives.

(ix)
Steady Other:  This refers to the balance to be maintained between inputs flowing in from the external environment and the corresponding outputs returning to it.  To survive, an organisation must be able to achieve higher level of output than the inputs it utilised.

EXAMINERS’ REPORT
The question tests candidates’ knowledge of the concept of open system with respect to organizations.  

Few candidates attempted the question and their performance was poor.  Majority of those who attempted the question have no knowledge of the concept and therefore could not show that organisations are indeed open systems. Some wrongly equated open system with open economy and described it in terms of free movement of people and resources.

Candidates are advised to familiarize themselves with basic concepts.  
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EXAMINATION NO...................................

THE INSTITUTE OF CHARTERED ACCOUNTANTS OF NIGERIA

FOUNDATION EXAMINATION – MAY 2011

CORPORATE AND BUSINESS LAW 

Time allowed – 3 hours  

SECTION A:  Attempt All Questions

PART I
MULTIPLE-CHOICE QUESTIONS                              (20 Marks)
1.
Res extincta is a/an  ........................... mistake.


A.
common 
           B.
mutual 
           C.
usual

D.        unilateral
           E.        unknown
2.
The membership of a public company is from two to  ............... persons.


A.
twenty

B.
fifty

C.
one hundred

D.
infinite

E.
one thousand
3.
The principle under which a person will be liable for the tort committed by another person is ................liability.

A.
implied 
B.
vicarious 
C.
imposed 
D.
presumed 
E.
legal
4. 
The principle of judicial precedent is also known as

A.
res judicata.
B.
stare decisis.
C.
res sua.
D.
obiter dicta.
E.
contra proferentem.
5. 
Which of the following principles states that only the parties to a contract can enforce it?

A.
Capacity to contract
B.
Offer and acceptance 

C.
Privity of contract
D.
Breach of contract 

E.
Condition of contract
6. 
Which of the following is NOT a contract uberrimae fidei? 
A.
Contracts of insurance
B.
Contracts to take shares in a company
C.
Contracts of marriage
D.
Contracts for sale of land.
E.
Contracts involving family members
7.
The type of principal whose identity is made known to the third party by the agent is .................................principal.


A.
known  


B.
identified  


C.
disclosed 

D.
mutual 

E.
actual
8.   
C.I.F. in contracts means 


A.
cost, indemnity and freight.

B.
cost, insurance and freight.

C.
cost, importation and freight.

D.
cost, intention and freight.

E.
cost, interest and freight.
9.
The Hire Purchase Act is applicable to goods other than motor vehicles, whose total hire purchase price does not exceed

A.
N2,000.
B.
N5,000.
C.
N25,000.
D.
N50,000.
E.
N1 million.
10.
The minimum paid-up capital for non-life insurance business is


A.
N1 billion.

B.
N2 billion.

C.
N3 billion.

D.
N4 billion.

E.
N5 billion.
11.
A company limited by guarantee is basically formed for....................purposes.


A.
political

B.
charitable

C.
profit making

D.
musical

E.
suretyship 

12.
The majority required to pass a special resolution at a meeting of a company is


A.
one third.

B.
two third.

C.
three quarter.

D.
three-fifth.

E.
four-fifth. 

13.
The document which a company must prepare, register and publish in order to offer shares or debentures to the public is called 

A.
advertisement.

B.
offer.

C.
prospectus.

D.
circular.

E.
publication.
14.
A partner has implied authority in respect of the following EXCEPT


A.
admission of a new partner. 


B.
engaging and dismissing servants.

C.
insuring the properties of the firm.

D.
receiving payments of debts owed to the partnership.

E.
issuing valid receipts in the name of the partnership.
15.
A partnership may be dissolved by the court on the application of a partner for the following reasons EXCEPT

F. death of a partner.

G. insanity of a partner.

H. permanent mental or physical incapacity of a partner.

I. the partnership can only be operated at a loss. 

J. the membership of the partnership is reduced by more than fifty percent. 

16.
Which of the following is NOT an ordinary business of the Annual General Meeting of a company?

F. Consideration and approval of financial statements

G. Appointment of company secretary

H. Appointment of members of the Audit Committee 

I. Declaration of dividends (if any)

J. Election of directors

17.
A company wishing to undertake a banking business must apply to the Central Bank of Nigeria with the following EXCEPT 

F. a Feasibility Report on the proposed bank. 

G. memorandum and Articles of Association of the company.

H. five years tax clearance certificate of the directors.

I. a list of the directors and principal officers and their curriculum vitae.

J. the prescribed application fee.

18.
Which of the following is NOT regarded as a material alteration of a bill of exchange?

F. The date on the bill

G. The sum payable

H. The time of payment

I. The rate of interest

J. The place of payment.

19.
An executor can do any of the following before obtaining probate EXCEPT 
F. collect all the assets of the deceased.

G. receive payments due to the deceased.

H. sell or transfer any security belonging to the deceased.

I. pay any debts owed by the deceased.

J. carry on the business of the deceased for the purpose of winding it up.

20.     Which of the following is the official name of a trustee in bankruptcy under 

the Bankruptcy Act LFN 2004?

          A.      The trustee of the estate of a bankrupt

          B.      The trustee of the property of a bankrupt

          C.      The trustee of the assets of a bankrupt

          D.      The executor of the assets of a bankrupt

          E.      The administrator of the property of a bankrupt

PART II 
SHORT ANSWER QUESTIONS                                            (20 MARKS)

1.
A breach of duty of care imposed by law and which leads to damages or injury to another person is .................................

2.
Freedom of movement is a  .........................right under the Nigerian Constitution of 1999.

3.
What is the official title of a law made by the House of Assembly of a State and assented to by the Governor of that State?

4.
The general remedy for the breach of a condition in the law of contract is...........

5.
A representation is a statement made in the course of negotiating a contract.  What is a representation that is NOT true?

6.
A commercial agent in whose possession goods are left with the authority to sell them in his own name is a .................

7.
Goods that have been manufactured, grown or produced and owned by the seller are .................goods.
8.
Any term which imposes an insurer or repairer on the hirer in a hire purchase agreement is...............
9.
All contracts of insurance EXCEPT .......................are contracts of indemnity.

10.
State the type of assignment of a policy of insurance which is made by endorsement on the policy or by a separate instrument.
11.
A company that issues its shares at a price above the nominal value is said to have issued the shares at a .................................
12.
Where company A is a member of company B, and controls the composition of the board of directors of company B, then company A is the .................... company of company B.
13.
On the basis of age, who is disqualified from being appointed as a receiver?
14.
Which type of partner is generally NOT allowed to take part in the management or decision-making of the partnership business?

15.
Which court has jurisdiction to effect a compulsory winding-up of a company?

16.
State the type of liability imposed on partners under the law of tort.

17.
An instruction by a customer to his banker not to honour his own cheque is called .............................

18.
A person who has been appointed in the will of a deceased person to administer his estate after his death is called...........................

19.
A document which is used to cancel, revoke or amend a Will is called a .............

20.
State the order of the court which is made against a debtor in order to protect his estate after the receipt of a bankruptcy petition against him.   

SECTION B  -  ATTEMPT ANY FOUR QUESTIONS                      (60 MARKS)
QUESTION 1

(a)
Distinguish between ratio decidendi and obiter dictum.                   (5 Marks)

(b)
Enumerate the sources of Nigerian Law.



            (5 Marks) 

(c) 
Udoh was employed as a senior driver by Gari Nigeria Plc whose Headquarters is situated on Victoria Island Lagos.  On 15 March, 2011, he was sent on an errand to Ikeja.   However, he decided to go to Ikorodu to see his fiancé.  On his way back, his vehicle collided with another vehicle as a result of which three of the occupants were seriously injured, but Udoh was not.  The hospital bill of the three injured persons was about N0.5 million.  Udoh who earned N30,000 per month could not pay.   Therefore, the three injured persons decided to sue Gari Nigeria Plc not only for the hospital bill, but also for N5 million damages.      
REQUIRED:

Advise Gari Nigeria Plc.




       
            (5 Marks)
         (Total 15 Marks) 

QUESTION 2

(a) 
Enumerate the factors which are relevant in deciding whether or not a plaintiff could succeed in an action for mis-representation under the law of contract.              


      






                                                                                        (5 Marks)

(b) 
State FIVE contracts that are illegal at common law. 

            (5 Marks)

(c )
Mary and Margaret work in the same office with four other co-workers.  Mary has two cars.  She recently announced in the office her intention to sell one of the cars.  Only Margaret showed interest.  She told Mary that she would buy the car as soon as her husband, who had travelled abroad on a business trip, returned and gave her the money.  She also assured Mary that it would not be more than two weeks before the money would be paid.   Two days later, Mary sold the car to another person who paid immediately.  After one week, Margaret brought the agreed price to the office.   It was only then that Mary told her that she sold the car five days earlier.  Margaret has decided to sue Mary for breach of contract.
 

REQUIRED:


Advise Margaret
   





           (5 Marks)

           (Total 15 Marks)
QUESTION 3

The management of International Hotel Plc opened a new 100-bedroom wing two years ago and bought 100 units of new air-conditioners and 100 sets of flat screen television on hire purchase from Chico Commercial Enterprises Limited. The agreement stipulated that the total hire purchase price would be paid in 28 instalments.  The Hotel paid 20 instalments and has defaulted to pay since then. Chico Commercial Enterprises Limited has sought your advice on if the items could be recovered from the hotel.

REQUIRED:

(a)
Advise the company with particular reference to the laws which are applicable to hire purchase transactions in Nigeria.

           (8 Marks)

(b) 
Distinguish between actual authority and implied authority of an agent. 

            (4 Marks)
(c) 
State THREE types of contracts in restraint of trade.

           (3 Marks)  

 (Total 15 Marks) 
QUESTION 4

(a) 
State FIVE types of general insurance business under the Insurance Act LFN
2004.             


    




 (5 Marks)
 (b) 
Explain the meaning of “fiduciary duty” of a director and give THREE auxiliary duties imposed on directors under this duty.



      (4 Marks)

(c)

Enumerate the names which are prohibited and which the Corporate Affairs Commission will not register under the Companies and Allied Matters Act (CAMA) 2004.







 (6 Marks)







           (Total 15 Marks)

QUESTION 5

(a) 

Explain FIVE things which a partner has no implied authority to undertake on behalf of the partnership. 






      (5 Marks)
(b) 
Ten years ago, Dende bought 200,000 units of shares of ABC Plc at N1.00 each and fully paid for the shares.    As at November last year, he had been paid N250,000 as dividends while 150,000 shares had been issued to him as bonus.  Early this year, the company had cash-flow problems and requested the shareholders to pay 20 kobo more on each shares.   All other shareholders except Dende agreed to pay.   The company has sought your advice with regard to any action which may legally be taken against Dende.     

REQUIRED:

Advise the company

      




            (6 Marks)
(c) 
State the order of priority of settlement of liabilities in a situation where a partnership has been dissolved. 





 (4 Marks)











 (Total 15 Marks)                           
QUESTION 6

(a)
In what FIVE ways may a bill of exchange be discharged?                (5 Marks)  

(b)
State FOUR types of charitable trusts.




 (4 Marks)

 (c)
Enumerate the classes of debtors that may be declared bankrupt.
 (6 Marks)










           (Total 15 Marks)
SOLUTION TO SECTION A

PART 1- MULTIPLE – CHOICE QUESTIONS
1. A
2. D
3. B

4. B
5. C
6. E
7. C
8. B

9. A
10. C
11. B
12. C
13. C
14. A
15. A
16. B
17. C
18. D
19. C
20. B
EXAMINERS’ REPORT
The questions fairly covered the syllabus, and candidates’ performance was very good.

PART 11 – SHORT ANSWER QUESTIONS
1. 
negligence.
2. 
fundamental.
3. 
Law of that state.
4. 
repudiation or recision.
5. 
Misrepresentation.
6. 
factor.
7. 
existing/specific
8. 
void.
9.  
life and personal accident.
10.  
Legal assignment.
11.  
premium.
12.  
holding or parent.
13.  
A minor or an infant.
14.  
limited partner.
15.  
Federal High Court.
16.  
Joint and several liability.
17.  
countermand.
18.  
executor.
19.  
codicil.

20.            Receiving order.
EXAMINERS’ REPORT
The questions achieved a good spread over the syllabus, and candidates’ performance was very good.

SOLUTION TO SECTION B

QUESTION 1

1(a)
Ratio decidendi means the material facts of a case and the decision thereon.  It is the basis of the judgment of the court, and the judgment itself. It is that part of the decision which constitutes a precedent that must be followed in subsequent similar cases.


Obiter dictum, on the other hand, means the chance remarks or saying by the way, of the court in the course of delivering the judgment.  It does not form part of the reasons for the judgment.
(b)       The sources of Nigerian law are:

i.   
English law which consists of common law, equity and statutes of general application as at 1900.

 
ii. 
Customary law.

iii.
Nigerian legislation which include Ordinances, Acts, Decrees, Edicts and Bye-Laws.


iv.
Judicial precedent.
(c)
The case in question borders on the principle of vicarious liability which arises when a master is rendered liable for the tort committed by the servant in the course of the servant’s employment and within the scope of the servant’s authority.


Ordinarily, a master will be liable for the torts of his servant.  However, the tort must be committed in the course of employment of the servant or while performing his duties.  Where the servant goes on a frolic of his, when sent on an errand, the master will not be liable for his wrongful acts.  Therefore, the company is not liable.

EXAMINERS’ REPORT
The question tests candidates’ understanding of sources of Nigerian Law, as well as the tort principle of vicarious liability.  Candidates’ performance was good.

QUESTION 2
(a)
In order for a plaintiff to succeed in an action for misrepresentation, the following factors must be considered:

(i) There must be a representation, as silence does not amount to a misrepresentation.

(ii) The representation must be one of the fact and not merely on opinion. (Bisset V. Wilkinson).

(iii) The statement must be addressed from the misrepresentator to the misrepresentee.

(iv) The statement must have induced the contract.

(b)
The following contracts are illegal at common law:

i. Contracts to commit crimes or civil wrongs.

ii. Contracts involving sexual immorality.

iii. Contracts affecting public safety.

iv. Contracts prejudicial to administration of justice.

v. Contracts that tend to promote corruption in public life.

vi. Contracts to defraud the Revenue.

vii. Contracts prejudicial to the status of marriage and the family.  

viii. Contracts with an alien enemy during war-time.

(c)
The issue in question is whether there has been a firm offer and a corresponding valid acceptance that could lead to the formation of a binding contract.  An offer is a statement of intention by which a person intends to be bound if acceptable by the person to whom it is addressed.  An invitation to treat is a preliminary negotiation which may lead to the formation of an offer, but which is not an offer in itself.

The announcement by Mary of her intention to sell one of her cars amounts to an invitation to treat.

Margaret, by indicating her interest to buy, makes the offer and there was no acceptance of the offer by Mary, who went on to sell the car to another person who paid for it immediately.

There was, therefore, no contract.  Thus, Margaret would fail if she decides to   sue Mary for breach of contract.

EXAMINERS’ REPORT
The question tests candidates’ knowledge of the meaning of misrepresentation, types of illegal contracts at Common Law, as well as the distinction between offer and invitation to treat in the Law of Contracts.  Candidates’ performance was above average.

QUESTION 3

(a) The Hire Purchase Act is only applicable to

(i) all hire purchase transactions in respect of goods under which the hire purchase price does not exceed N2,000.00. 

(ii) all such agreements in respect of motor vehicles, irrespective of the amount involved.

Although the values of the 100 new air-conditioners and 100 sets of flat screen television sets were not given, it is obvious that their values would be more than N2,000, which is the maximum value of items to which the Hire Purchase Act is applicable.

Therefore, the Hire-Purchase Act LFN 2004 is not applicable to this case.

Consequently, the common law is applicable and the items could be recovered for failure to pay some instalments.

(b)
Actual authority is one which is expressly given to the agent by the principal through an agreement or contract between the parties.


Implied authority means that authority which is not expressly given to the agent but which could be inferred from the actual authority expressly given.  An agent may exercise implied authority by virtue of the type of trade, business or profession concerned.


The Common Law and the Hire Purchase Act LFN 2004 are applicable to Hire Purchase transactions in Nigeria.

(c)
The types of contracts in restraint of trade are:

i. Restraint imposed on employee.

ii. Agreement between partners.

iii. Restraint imposed on a vendor of business.

iv. Exclusive service contracts by third parties.

v. Exclusive trading.

EXAMINERS’REPORT
The question tests candidates’ knowledge of the effect of non-payment of hire purchase installments on goods costing more than N2,000, the distinction between actual and implied authority of an agent, as well as types of contract in restraint of trade.

Candidates’ performance was average.  The commonest pitfall was that some candidates failed to recognize the N2,000 statutory limit.

Candidates are advised to study this area of the law more.
QUESTION 4

(a)
The types of general insurance business are:
i. Fire insurance business.

ii. General accident.

iii. Motor vehicle.

iv. Marine and aviation.

v. Oil and gas.

vi. Engineering.

vii. Bonds credit guarantee and suretyship.

viii. Personal accident insurance.

ix. Miscellaneous.

(b)
Fiduciary duty of a director means the duty arising as a result of the relationship existing between a director and the company.


The auxiliary duties of a director include duty to

i. account

ii. avoid conflict of interest

iii. act in good faith for the benefit of the company

iv. not make secret profit 

v. act bona fide in the interest of the company.

(c)
The following names are prohibited from being registered under Section 30 (1) of the CAMA LFN 2004.

i. A name which is either so identical with the name by which a company in existence is already registered.

ii. A name that contains the word chamber of commerce “unless it is a company limited by guarantee.”

iii. A name which, in the opinion of the Corporate Affairs Commission, is capable of misleading the public as to the nature of its activities, or is undesirable, or offensive, or contrary to public policy.

EXAMINERS’REPORT
The question tests candidates’ knowledge of types of general insurance business, duties of a company director, as well as names that are prohibited under Companies and Allied Matters Act.  
Candidates’ performance was average.

The commonest pitfall was some candidates’ lack of understanding of the requirements of the question.

Candidates are advised to pay special attention to this area of the syllabus in future.

QUESTION 5

(a)
A partner has no implied authority to undertake the following on behalf of the partnership:


i.
executing a deed in the firm’s name;


ii.
admission of a new partner;


iii.
giving guarantees in the firm’s name;

iv. reference of dispute to arbitration;

v. compromising any debt owed to the firm;

vi. selling of partnership land, etc.

(b)
The question requires the consideration of whether or not a member of a company can be compelled to pay additional amount beyond the amount which remains unpaid in respect of shares held by him.

  
The principle applicable is that of members’ limited liability.

Once a member has fully paid for his shares, he cannot be made to pay anything anymore.  Therefore, there is no legal action which the company can take against Dende for his refusal to pay additional 20k on the shares held by him.

(c)
The order of priority of settlement of liabilities in a situation where a partnership has been dissolved is as follows:

i. Payment of outside creditors;

ii. Repayment of any advance by partners;

iii. Repayment of capital investment to partners;

iv. Distribution of any surplus among partners.

EXAMINERS’REPORT
The question tests candidates’ knowledge of limits to a partner’s implied authority and the liability of a member of a limited liability company.

Candidates’ performance was average.

The commonest pitfall was some candidates’ inability to fully grasp the principle of limited liability.

Candidates are advised to study harder.

QUESTION 6

(a)
A bill of exchange may be discharged in the following ways:

i. Payment in due course.

ii. Acceptor becoming the holder.

iii. Waiver or renunciation of the holder.

iv. Intentional cancellation of the bill.

v. Material alteration of the bill.

vi. Acceptance of the honour.

vii. The bill being lost and replaced.

(b) The four types of charitable trusts are:

i. Trust for relief of poverty.

ii. Trust for the advancement of education.

iii. Trust for the advancement of religion.

iv. Trust for other purposes beneficial to the community and not falling under any of the three above.

(c) The classes of debtors that may be declared bankrupt are:

i. A debtor owing a liquidated sum of at least N2,000.00 within the jurisdiction of the court;

ii. A debtor who has committed an act of bankruptcy within 3 months before presentation of bankruptcy petition;

iii. Any debtor domiciled in Nigeria or who has been carrying on business in Nigeria by means of an agent or manager.

EXAMINERS’REPORT
The question tests candidates’ knowledge of ways of discharging bills of exchange, types of charitable trusts as well as classes of debtors that may be declared bankrupt.

Candidates’ performance was poor.

Most of the candidates avoided the question, while the few that attempted it showed lack of understanding.

Candidates are advised to study the relevant topics more deeply when preparing for the examination. 
 [image: image15.png]



              		NOTES


Although these suggested solutions have been published under the Institute’s name, they do not represent the views of the Council of the Institute.  The suggested solutions are entirely the responsibility of their authors and the Institute will not enter into any correspondence on them.
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